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Note : Write all the answers on the answer sheet, |
|

1. Vocabulary :
A: Fill in the blanks with the words given. There is one extra word.

probable - recyeled - forecasted - healthy — mood - firmly — release

8 o E— that there will be a strong storm on Friday.

2. Good teachers can change the ............ of their classes if they use sense of humor.
3. Old newspapers can be ......... more easily than most kinds of plastics.

4. Cars cause pollutionand ............ many greenhouse gases into the air.

3. Pacific Ocean 1s the most ............ area for today’s earthquakes.
|| R believes that she has the ability to give a good speech for an audience of 50,

— —

1/5 | B : Match the following definitions in column (A) with the words in column (B).
There is one extra item in column (B).

A B
| 7ioa large degree a. concentrate

8. give all your atiention to sth b. provide
. 9. likely to be or to happen ¢. probable
d. mainly

I/3 | € : Choose the different word .

10. a. earthquake  b. instrument c. flood d. storm
| 1. a. gesture b. stance . posture d. purpose
|2, a. joint b. blood c. vessel d. heart

[

1I. Grammar :
A : Choose the correct choice.

' 13. l answered the telephone............ | was watching TV, '
a. since b. whether C. as d. because
14, Students ........... chemistry in the library should not talk with each other .
a. are studying b. who are studied . .
c¢. studying d. studied |
| 5. He made his speech interesting by .....oonaen. attractive opening sentences .
a. having used b. used C. use d. using ‘
6. We will goonatrip.......... you come or not.
a. when b. before C. since d. whether | _
£ g0 chmins yd LY g o anlal® _:
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B : Fill in the blanks with the correct form of the verbs in parentheses.
17. My mother doesn’t make me ............... all the dishes every day. (to wash )

I8, The teacher allowed the students ................... the story book in the class.(to read)

C : Rewrite the following sentences using the reduced form of the undcrli_llt;ﬂ p-a ris.

- 19, The people who live next door are from England.

20. Most of the people who were invited to the party were old friends.

| D :Fill in the blanks with so , such(a.an), too and enough in the following

sentences.
21. It was ........... interesting book that | decided to read it again.
22, John spoke ........... quickly that we couldn’t understand him.
23. She has ........... experience to help the injured people.
| 24. | don’t think that they can buy the house. It's ........... expensive for them to buy.

| 1. Sentence Function :

Match the items in column (A) with the appropriate phrases in column (B)
to make meaningful sentences . There is one extra item in column (B).

A B
25. Global warming is ......... a. because the exam was very difficult .
26. During an earthquake, .......... b. it will affect the environment and all the
27. Most of the students could not living things.
answer the questions ............. . stand in a door way or go under a desk
28, To involve your audience , ....... or table.

d. talk to them directly, and get them
Interested.

e. the average increase in the Earth’s
temperature, which then causes changes
in climate.
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IV. Comprehension :

A : Sentence Comprehension : Read the following sentences and choose the
correct choice.

29, When scientists talk about climate change, they are concerned about global
warming caused by human activities.
According to the above sentence , ;

human activities have made lhc E:lrlh warmer

people are more worried about global warming than scientists

climate change has no effect on global warming

human beings have no role in global warming

o C -

30. The purpose of humor is not to be a comedian but for you to create a comfortable
atmosphere and have fun with your audience.
According to the above sentence , .......ccocvvviincnivnnnni
a. creating a comfortable situation 15 not good at all
b. being a comedian is emphasized
¢. a sense of humor is emphasized
d. laughing at the audience is suggested

31. Sometimes we do not know a weak carthquake has happened under us . This

sentence tellsusthat .......oovvvnn....

a. we do not know the time of earthquakes
b. we do not know what happens under us
¢. we do not feel weak earthquakes
d. weak earthquakes are predictable

B: Cloze Passage :
Fill in the blanks with the words from the list below. There is one extra word.

presentation — distracting — relation — unconfident — crossing — necessary — tapping

, " : iz . :
Be aware of habits vou might have like ... ™~ ... your arms , leaning against a
33 s 34 . 2
wall ,or ..."" ... apen. Thismightalsobe ... ... to your audience or might tell them

. 35 ; i i s

that you are uninterested or ...~ ... . Practice your speech in front of a mirror to check
36 R ¥ ) ¥

yourway of ...~ ... and body movements and change themif ..." ... . Try many

tlll"tcrcm ways to find a comfortable ha]anc:, {:F;,,cslurm to use in front of an audience.
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[ Reading Passage :

Read the following passage and match each paragraph with one of the headings . |
Write the letters ( A, B, C. D) in front of the numbers of the paragraphs.

Headings

(A} The trees which women in Guatemala plant are useful for the
atmosphere and their families.

(B) We should use other kinds of energy instead of coal and oil.
(C) Cutting down the trees is not good for the land.
(I}) The greenhouse effect is a problem for the environment. |

38. Most people knew something about the greenhouse effiect. Factories send gases
such as carbon dioxide , or CO2 into the atmosphere. In the past , this wasn’t a
problem because trees absorbed, or drank in, CO2 . But now people don't pay
much attention to the environment. At the same time, factories are sending more
CO2 into the atmosphere every year. One ton is 2000 pounds, so this is a lot of
pollution. There is too much CO2 and there aren’t enough trees, so the world is |
getting warmer. In other words, we have a greenhouse effect. This is terrible for
the environment.

39. What can we do about this? First, we can stop using so much coal and oil. We can |
learn to use different kinds of energy ; the sun, wind, and heat from voleanoes and
from inside the earth. Second, we should plant more trees. One tree can absorb ten |
pounds of carbon dioxide every year.

40. In the past, the mountains of Guatemala, in the central America, were green and
thick with beautiful trees. But people cut down trees for houses. Also, many women
cook over wood fires. They walk hours every day to look for firewood. There are
fewer and fewer trees, and this is bad for the land. Rain washes good soil down the
mouniains.

41. The trees are good for the earth’s atmosphere. They are good for Guatemala too. In |
small towns and villages in Guatemala, most women are poor and have hard lives. |
Trees help them in three ways. First, the government pays them to plant the trees.
Their pay 15 com, not money. The com is food for their children. Second, these |
women know a lot about their environment. They know where to plant, when to
plant, and what kinds of trees to plant. For example, they plant many fruit trees. |
The fruit gives them vitamins in their families' diets. Other trees are good for
firewood. In a few vears, the women won’t spend so much time walking for wood. |

Third, all these trees are good for the soil. Now rain can’t wash the soil down the
mouniains so casily.
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Reading Comprehension :

Read the following passage and answer the questions as required.

Feeling tired, nervous or angry? Take a deep breath. It’s one of the most relaxing
| and energizing things you can do. Try taking a deep breath right now. Feel how new
| energy goes throughout your body. Breathing is a very easy, natural, and healthful
thing to do. It"s really bad that most people do not know how to do it correctly!

Correct deep breathing is a lost art, and breathing is the basis of all normal

| activities for all living things, for human beings it is the most necessary activity. It
affects our health, our mental health and our lifespan, i.e. we can live longer if we

| know how to breathe correctly. Scientists believe that we can live without food for

some days, but we can live only for a few minutes without air.

Early man did not have to learn the art of correct breathing because of his lifestyle. |
Fresh air, a natural environment, continuous movement and a large variety of natural
physical activities made early man a good breather. However, modern man lives far
from natural life and physical activity. And one of the prices modern man pays for

| civilization 15 anxiety and stress, probably the most important reason 1s: man has

| "forgotten " how to breathe correctly.

| 45.

42.

43,

According to the passage, deep breathing ......oovvviciiiinininn
a. INCreases your energy
c. improves your way of thinking d. cures vour illnesses
The main point of the first paragraph is: ........oociiiiiiiiininn, .

a. breathing may make people tired

b. when we breathe, we can forget our problems

¢. we should not get nervous at all

d. it is important to breathe correctly

. Which of the followings is not mentioned about natural life?

a. fresh life b. climbing mountains

b. physical activities d. natural environment
According to the passage, people who breathe correctly , ...oovvviniinninnnn
a. can live without food b. may live longer

c. have strange mental conditions d. are called artists

| True or False

| 46. We can understand from the passage that early man could breathe better than

modern man because of his lifestyle.
a. True b. False

47. According to the passage, good breathing can affect only our physical health, and

not our mental health.
a. True b. False

E{1]
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I. Vocabulary :
Al '
1. forecasted 2. mood 3. recycled
I 4. release 5. probable 6. firmly
s | B: g (+/8) e frls 2
_ T.(d 8.(a) 9.(¢c)
115 | € 8 03 [+ /) guadnas ol 5
10.(b) 11.(d) 12.(a)
2 | IL Grammar : s yni [+ /0) mames ol
A:
13.(¢) 14.(c) 15.(d) 16, (d )
! B: 005 (+18) guoee ol 5
17. wash | 8. to read |
1 | € 805 (+ /) prapnns ginls y |
| | 19. The people living next door are from England. |
20. Most of the people invited to the party were old friends. |
2 | B : 505 (+18) s sty 2
21, such an 22. 50 23. enough 24, oo
5 | 111:; Sentence Function: 8 p0d [+ [0) gt Fils o2
250 ¢) 26.(c) 27.(a) 28.(d)
1 IV: Comprehension: ap0i (V) e s p2
A
29.(a) 3. (c) 3lic)
3 B: 200 (+/0) s ol 2
32. crossing 33. lapping 34. distracting .
35, unconfident 36. presentation 37. necessary |
4 | C 0309 (V) geomee iy 2
138.(D) 39.(B) 40.(C) 41.(A) e
6 D: 2ped (V) s s 2
42.(a) 43.(d) 44.(b)
45.(b) 46.(a) 47.(b)
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